[ Efficiency vs vertpos |
- 05

Y SR S S— —

A SN TN W #...

(8]
[ fcL:IICTEITRUN SRTPRIRE ISPRRRRS e

5 S S L
oo

Oi'i,iiii::igi::iiiiié’.::iffi}iﬁ_:

ettic

o

1072 10 1 10 0?
TP vertr (cr%)

MKEIL_TT1originar
mkFit_TTNEW50
mKFit_TTNEW50-chi2
mkFit_ TTNEW50-dpdq

<4

DQ
DQ
Efficiend —— B3

~ 0.5
T S R P R . -

A |
L S R SRR, SR
> F H : : : .
2 E : : : : .
R S A R e T
[3} o : : : : :
£ 0.3F bt
] o : : : : !
O S SR MU I SIS
R RTINS RO R S
T e | SO R S S
St LTS S S S

oos bt

o O?....i....i....'l."".‘ﬂ.{’. AP

R =eERRERPFERRREY | &1 E At o SO o

o F : i : 1
SRR 1 LT SR S
o H 1 | : :
°85 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

................................................

.............................................

...........................

&

1.0

Ratio

1

0.95

o

9
9,

10 15 20
Sim. PV z (cm)

ﬁ
(@]
of— r
o
[(6)]



	Contents
	Page 1


